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N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. (a) Choose the correct alternative : (any eight) .- = ey R e
{i) Economic liberalization was a bold. ﬁecwlon by the aneM:nlster L S
( Narsimha Rao, Rajiv Gandhl Atal Bihari Bajpal A ;
(i) Theterm _____ refersto frqedpr_ﬁq to b,u_smess enter_prlses frorﬁ-excéss‘ive :
government control. . > A 5
( Gloabalization, Liberahzation Dlsrnvestment) I L
(iii)  Abolitionof s prowded under Arﬂcie 17 of the Ind!an Constrtutlon
( Caste, Child Labour, Untopchabﬂnty T T
(iv)  Human rights are. derived from the prmcfp!e of ____._._,_,___‘: ,i"aw-. S
( Judicial, Natural, Admmtsilsrahve ) g %
(v)  Acid rain is one of the harmful effect B T pollhtjon.
( Air, Water, Soil') ; : st
(vij ——_ Gas protects us from U= rays emltted by sun.
{ Ozone, Carbon dlomde, Nitrogen )
(vii) s s a s#tuation m whlch two or-more partles feel themselves in
opposition. W
£ 7 Stress, Confhct Frustratlo_n )
(viii) ___ refers to behaviour that +smtended to cause harm or pain to others.
‘ ( Confllct Premdice Aggresswn )
{ix) ____ helps to develop the power: of concentration.
P “f Physaca! exercise, Medltatlon Social support )
”(5:)_ -'Maslow origmally identified ——=> set of needs.
(Two Three, ane) ‘

(bL erte ‘TrUe or False (any seven) Sl 7
P §(1) Magratlon from’ rural to urban area is more common in developing countries.
5 (2) " dT-has made comnwnicatnon expensive and complex.

() '~Human Rights have universal application.

(4)  -Under Fundamental Rights enshrined in Indian constitution all minorities-

religious or. hnguustlc groups can set up their own educational institutions.
(5). -Natural environment provides renewable sources of energy.
(6). ;',Eﬁvironﬁﬁenta! degardation does not affect marine life.
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: s tmis
(7)  Eustress is the term used to describe positive stress | J ‘ 2
(8) Regionalism causes intergroup conflicts. : = > g
(9)  All individuals need not have the same set of needs SR
(10) There should be proper time management S0 as to avoid WOrk QVer!oad
What is liberalization ? Discuss the advantages of _I.ibg,ra,lizatjbn.- . Aoty e gt

. What is migration ? Explain the causes of mig.tjﬁt[i)'__il_i Sty :'_\_m" m £ j;[‘;v"::_

Discuss the concept of human rights and expTam

*ﬁ;ei'STBhiﬁ'éan_ce:‘of-ﬁ'ﬂ,ﬁ_fﬁaﬁﬁ:‘ﬁ:‘gﬁﬁ. ST 15
OR S e e

What are Fundamental rights ? Explain the |mportance of these rug‘hts to the qtizens of lndla

< -

o SEA W

Explain the impact of environmen‘ta‘xl"_,djegfadaﬁoﬁ“ ,_:9‘1'_1.=‘-hum'a‘n fife. k 4‘ 15

What is stress ? Explain the i:;-i't}fe_s ‘"pfi_s*‘t"ré".;s?tn‘

OR

iy

Explain how the agents of souahzatmn play an lrnportant role in shaping the personality 15

of an individual. v pe o I NNl S
Of’ < L Pa _' ST
. Write short notes on. (any three) A
oot

(i) Rightito Constitunonal remedres
(ii) lmpact of Globa’hzatton on Emplovme@t 3

(iii) ‘Gamponents of susta1nabje deva[opmeqt«
(iv) __Causes of aggressson R < R

(W) s Maslow s theory of . SElf actuakza%lon% e

T a

e, el s g e e
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Please check whether you have got the right question paper.
N.B. (1) Strictly avoid resorting to any unfair means during the-examination.
(2) Figures in brackets to the right indicate full marks allotted to the question.
(3) Working notes should form part of your answers. ' 5
(4) All six questions are compuslory, although, there are internal options i in case of
questions 2 to 6.
(5) Use of simple calculator is allowed.

(a) Fill in the blanks with most appropriate words (any 10) :— ¥ N {10)
(i) Opening balance of Petty Cash is shown on side of Branch Account.
(i) Goods Sent to an consignee for sale'is called as . ' '
(iii) Good sent on consignment is creditea to N ACCount
(iv) Goods costing 2,00,000 were sent on. consngnment at cost plus 25%. Invoice value
of the goods will be 3 RV :
(v) Ownership of the goods sent on consugnment remains wnth the
(vi) Proforma invoice is prepared by
(vii) branches do not maintain COmplete books of accounts
(viii) Under Branch Debtors System, depreciation of branch fixed as_sets is not shown
in ~ Account.. ' :
(ix) Branch Accountis prepared -under method of Branch Accouting.
(x) Infireinsurance; the msured gets compensatlon proportlonate to incurred,
in case of sufficient insurance; :
(xi) Slow:moving goods are caﬂed as - goods.
(xii) Credit purchase can be ascertained from_ = Account.

(b) State whether the following statements are*True or False (any 10) :— (10)
(i) Single Entry System is surtabie\to small orgamzatlon
(i) Credit sales can-be ascertained- from\_Debtors Account.
(i) UnderSingle Entry System, closing capital is ascertained by preparing opening
statement of affairs.
(iv) The. reiatibnship between consignor and consignee is that of Principal & Agent.
. (v) Incase of del- credere commission, bad debt loss is borne by the consignee.
~(vi) Consignment is same»as sales.
(vh) Dtscount allowed to customers is not recorded in Branch Account.
~(viii) Dependent branch depends on customers for supply of goods and expenses.
~(ix) Under Stock and Debtors system, Branch Stock account is a real account.
(x) Rate of gross profit need not be consistent for deciding the stock on the date of
fire.
(xi) Average clause has no effect on calculation of claim.
(xii)- In case of overvaluation of stock, it should be brought down to cost.
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2. Following details were extracted from the information given by Mr. Kedamath for the \

year ended 31* March 2017 :

2

7

(a) Cash and Bank Account
Receipt L 4 Payment : :
To Balance b/d 10,000 | By Cash Purchases ' 47,0(50 P
To Cash Sales 120,000 | By Creditors 250,000 -
To Debtors 300,000 | By Bills payable 5 130,000
To Bills Receivables A /c 20,000 -Ev Salanes ' R I 5'0,00(3" -
To Interest Received 6,000 .‘By Printlng and Statuonery 22,000
To Loan received 40,000 -| By lnsurance }15,0(‘)()
' ) _Bv Sa1es Commission . = | 24,000
© | By Furniture Purchased -~ 138,000
{ = _|.By Balance c/d X - 28,000
“fags000 | - - ¢ |496,000
(b)
Particulars - | “Balance on | Balance on
REETR 31:03-16 . | 31-03-17
| Y SO : o
| Furniture- 20,000 50,000
|-Cash & Bank Balance | . 10,000 28,000
‘Stock 1° 30000 40,000
| Debtors.© -~ - - - of - 50,000 60,000
Bills Receivables - . . 7,000 8,000
| Creditors .~ " 20,000 30,000
Bills payable 4,000 12,000

(c) Other detalls 1—

(1) Prowde Depremation on Furmture at the rate 10% p.a. Furniture was purchased

i durmg the yearon 1% August 2016.

" {ii) Insurance-Prepaid was ¥ 1,000/

(II!) BIHS Recelvable dishonoured during the year T 400/-

You are required to prepare :
(1) Trading: & Profit & Loss Account for the year ended 31 March, 2017.

72) - Balance Sheet as

on 31% March, 2017.

(3) Worklng Notes are necessary to substantiate your answer.

e s . e g e

OR

CC77F14988DD148497277EF8CC4B0342
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3

Following information is given to you by Mr. Hariharan :

Iy
,f§ ’(\ ‘ | - o ’1 )‘ : ’l\‘ .‘:‘ “ ., s
i

(a) Opening Statement of Affairs as on 15t Apri] 2016 ’ R

Liabilities T Assets s
Capital 100,000 [ Laptop CRODOOT >
Creditors 50,000 Closing Stock i 30,bBO e K

Loan from friends 15,000 Debtors : CER e ,_-Tz;a;bﬁo,- R _

Bills: Receavable Account ‘8 000 N

:.-V'Cash and’ Bank Balance S8
165 000 S

Particulars SF S Sl o iy f B
Received from Debtors :;"‘_.-\ RS 1,10,000 o
Paid to Credltors . S ¥ 60, 000‘ o
Cash Purchases - PR 15,000 |~ -
Cash sales . <« 7 Y ¥ zo‘ooo s

Salarié‘s*"“ SR i {18000
Offic*e"‘i:‘xpens‘és R WL A Rt ‘.,20,0'601.:‘ .
Commission Recetved - _ & --4',‘00(53

© NewLaptop Purchased: e H 50,000
':;_?":B}lls Recelvabre Matured anﬁ Retetved . 15,000
& _:..-'_Bills Ravable Paid B G -T‘l 3 :N.,f' -~ 5,000
(c) Fo[lewmgadditmnal Inf ormatmn was also maﬁe ava:lable to you :

-~ (i) Credit Purchase .~ - e i s 70,000
{u} CredltSaies el i P eI o o 150,000
= (i) Deprgcwation tobe Charged on computer 25% p.a.
(N} Lapfop p_urchased during the year was purchased on 1st October, 2016
- {v) BIHS Recelvable Drawn P 18,000
(vr} “Bills. Payable. ACCepted _' Fhgi 7,000
(mj) ClosmgStock g : 12,000

(wu) DISCOUI‘TL' allowed to customers 1,000

You are requ:red to prepare
{l) Tradmg and Profit & Loss Account for the year ended 315t March, 2017.
(n) Bafanqe Sheet as-on 31* March, 2017.
(m) Work‘ing Notes to ‘Substantiate your answer,
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veptors on01-01-2016 55,000
| Cash paid by customers 1,84,500
Discount and commission to customers 1,360
" | Bad debts 390
rReh_t'Rates and Taxes 1,200
* |'Salesmen Expences and wages 3,650

’ [ TURN OVER

CC77F14988DD148497277EFRCC4B0342



o NN
g N

o il ML
e A

5 QP Code : 07445

M/s Diamond Cements Ltd. of Nagpur consigned to Suyesh Brothers of Bhopa{ 5,000 Cement

(15).{} 58

bags costing ¥ 80/- per Bag. M/s Diamond Cements Ltd. pald Ta 50.0/ for rallway s,

freight, ¥ 2,500/- for insurance and ¥ 2,200/- for sundry expenses L
On receipt of consignment, Suyesh Brothers accepted a Bill for ¥ 2 00, 000/- oW g
Suyesh Brothers sent an Account sales which shows as: : : R
(1) Cash Sales of 4,000 bags @ ¥ 95 each. : A
(2) Expenses paid by Suyesh Brothers were : '
(a) Godown rent ¥ 2,000/-;
(b) Selling expenses T 6,000/-.

(c) Suyesh Brothers remitted the b.aiances due by bank draft after deductlng‘ ;

their expenses and commission at 2% on gross sales. ot
Prepare Consignment Account and Consignee’s Account In the books of M/s Diamond Cements Ltd

OR

-3

The Hero Cycles Itd., Mumbai appointed Ganesh Cyc{es«of Chandr’apur as thelr selhng agenton
the undermentioned terms and conditions ;- = :
(a) Supplied cycles to be sold at mvou:e prlce or over,
(b) Ganesh cycles an authorlzed agents at- Chandrapur is entltled fo a commission of
12.5% on the invoice price’ and 25% of any surplus amount realszed
(c) On 1% January, 2016; 1, 500 btgycles were consigned to Ganesh cycles of Chandrapur.
Each bicycle costing Rs: 60 lncluding freight and invoiced at T 80/- each.
(d) A bill for ¥ 25, 000/ is drawn on.Ganesh’ Cycles Chandrapur as an advance.
(e) Before 31% ‘December, 2016 Gangs’h Cylces sold 1 000 blcvdes at an average price of
T 95 per cycles : s
(f) Consignee made the followmg expenses
For advertisement and selling expenses ¥ 4 ,500/-, Godown Rent, Insurance etc. ¥ 3,000/-.
(g) Bank-draft was received from Ganesh Cycles-towards the balance.
Prepare Consignment. Account Conslgnee s Account and Goods sent on Consignment Account
in the books of Hero. Cycles Ltd

On:30% Sep’tember, 2016, a fnre destrayed mamapart of stock of M/S. Fireprone& Co. Stocks
costmg ¥'5,20,000/- could be salvaged but not saved their stock ledgers. A fire insurance policy
was in fgrce under whlch the suminsured was E4 12,00,000.

You are given the following data from the available records :

: (a) Total of Sgles invoices during the period April to September, 2016 amounted to
T 90,60,000/-. An analvsus showed that goods of the value of T 9,00,000/- had been
returned by customers befOre the date of fire.

(b) Qpening stack on 1% April, 2016 was ¥ 6,60,000/- which was over-valued by 10%.
(c) -Purchases between 1% April 2016 and 30™ September, 2016 were ¥ 65,00,000/-.
(d) Normal Gross Profit Rate was 33 !/, % on sale.

~ Prepare a statement of insurance claim.

OR

(15)

(15)
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6 QP Code : "07445
5. On 31" May, 2016, a fire occurred & partly damaged the stock of gaods of Vulnerable Traders; (15) .

Stock having a cost of ¥ 1,00,000/- being salvaged. The stocks were msured agalnst fire to the
extent of ¥ 4,50,000/-. :

The following particulars could be obtained from the books and records saved ‘\ ¥

Particulars & o : DS
Balance as per Balance Sheet as on 31-12-2015: i
Stock (as undervalued by 10%) : 2,70,000_ |
Debtors for Goods ol gy 'l75';000 { ! :
Creditors for Goods Sy A~ 45,000 &3
Transactions between 1-1-2016 to: 31»05-2015 NFEE
Cash received from debtors - - T o i P 00 000
Cash Discount allowed to debtors =AY 15 000
Goods returned by debtots Ty 36 000 ’ :
Cash paid to creditors = - 11,10,000:_ e
Cash discount from creditors = = " = 12,000 |
Goods returned to Credntors ' S A 3}00_0‘
Cash sales y - S > ; 6,36,000
Goods donated (at cost)- Py NN SR 15,000
Debtors for goods as on 31—05-2016 s | 1,74,000
Creditors for'goods as on 3_1 05-_2016 AR 90,000

- N

All sales were made ata Gross Proflt of 25% on Sale price
Draw a statement of c!aim for loss of stock >

6. (a) Whatis Branch ? What are- thefeatures of Dependent Branch and give format of Branch ~ (10)
Account in-Branch Debtors System..

(b) What is conSIgnment and its necessity ? ? leeformat of Consignment Account. (10)
OR= =
6. Wnte short note on any four of the folfowmg - (20)

{a) Memorandum Trading Account

(b) Account Sale

. {c) Normal Loss and Abnormal Loss

“{d) Stock Debtors Method of Branch Accounts
~(e) Ave(age Clause

-(f) Average Gross Profit Ratio.

CC77F14988DD148497277EF8CC4B0342
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Please check whether you have got the right question paper 7 <

N.B: 1. All questions are compulsory.

2. Figures to the right indicate full marks
3. Answer to each question must begin on a new page.

Q.1 A) Fillin the blanks with the appropriate option given in the bracket: (any 10} , 7 10

bk WN

~

10.
11,

12.

—

. Following is an example of service ------------=---- (insurance; bread, car)

. Goods and services are ---------------- ( same/dlfferent/s:mplg) <

. Consumers expect ------------- service from the service provider (Qumk/delayed/lmproper) -

. A Store layout must offer -----—---- to the customers {lnconvenlence/Problem/convemEnce)

. B2B stands for --—---——-online transactions (business to'better/busy to busy/business to business)

KPO stands for ---—--- (know point outsourcing/KnoMédge—point outsourcing[knqwlédge process
outsourcing)

. ATM stands for -——------—- (Automatic time money/Automated tefler Machtne{Auto teH Moneyj
. In debit card, the amount gets---------~-= “from the bank balance of-the customer.

v

(increased/deducted/added)
E-commerce -------------- cost in the long run (mcrease/reduce{does not impact)

--——m----i5 an element of loglsttcs(Transportation/dis;ounts/promotions)

E- commerce facilitates interaction between the customer and the organizations via -----------—

(internet/store/bank)
--eemmm-—---are those cards which are used by the customers wnthout having a bank account.

(credit/Debit/T ransnt)

State whether the_following statements are true or false : (any 10) 10

Services sector play an important role in the growth of a nation.
When customer expectations are met, customer is dlssatlsf ed.

. There-are no chailénges faced by service sector

. Local kirana store is an example of unorganized sector ,

; Vegetable vendors on the footpath are an example of organized sector.

. Franchise is a contract between two parties from the same or different country.
. Foreign direct investment in organized retail sector does not help in its growth.
. ATM card facilitates withdrawal of cash from the bank account anytime.

. Logistics helps in moving a product or service from consumer to manufacturer.

10. Indians prefer to enjoy the touch and feel shopping experience which is absent in e-retailing.
11. The B2B transactions increase the distribution cost.
12. There a,re no cases-of fraud in the case of e-commerce transactions.

Q.2 A) Define services. Exptam its characteristics. 08
B) Explaln m brief the elements. of service marketing mix 07
OR
C) Describe the  process. mvotved in delivery of services. 08
D) Elaborate on the scope of services. 07
P.T.O
3
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Q.3 A) Explain the factors responsible for the growth of retailing in India.

B) Describe various non-store formats of retailing in India. R g
OR Stk
C) Explain the different store formats of retailing in India. AR :M

D) What are the various activities involved in mall management? =~~~ = - o

Q.4 A) What is meant by internet Banking? Explain its advantages. ;
B) Define debit card? Discuss the merits and limitations of a debit card.
C) Explain the advantages and disadvantages of credit card. =
D) What are the challenges faced by Logistics sector in__l_t‘,‘idi‘aﬁ? R

Q.5 A) What is E-commerce? Explain its scope.
B) Elaborate on the various functions of E-commErce

| _t")Ri‘”ff“
C) How is on-line marketing research benef”clal to Indian compgnles?
D) Write a note on Business to Consumer (BZC) onime transact“fons

Q.6 A) What is Business Process outsourcmg? Expizln lts advantages and dlsadvantages
B) Explain the guidelines to be kept in mmd for p{an," : 5tore design and Iayout

e A

VOR‘

Q.6  Write short notes on :(Any4). .. - i .
a) Resource Planning, '
b) Legal process Outsourcmg _ ‘ _
c) FDlin retailing. -~ _ i e ¥
d) Service Development cy'cle._u <
e) Reta:lfranch:smg . e
f) anatlzatlon of Jnsurance Sector

298CDB60C59CTF217A65538292826C8E
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Please check whether you have got the right questlon paper

N.B: 1. All questions are compulsory.
2. All questions have internal choice.
3. Draw neat diagrams wherever necessary.
4. Use of simple calculator is permitted.
5. Figures to the right indicate full marks X
. A. Select the best answer from the given options and rewrite the statement (Any Ten), -~ S5 310
i. Perfectly competitive firms face demand curves ;
a. horizontal b. positively sl_oped

c. vertical d. negatively sloped"

ii. The firm will choose to shut down when
a. revenues no longer cover variable costs
b. losses are larger than fixed costs.
c.bothaandb
d. neitheranorb

iii. Economists call a market that has only one producer: _
a. perfect competition ~b. monopoly -
¢. monopolistic competition : d. 'oligopoly- ey

iv. Group equilibriumin monopohstlc competltlon assumes
a. uniformity 3 b. symmetry e
c.bothaand b ~_d.none of 'ghe above .

v. Oligopolyis-a form of market in which fhere_ekis‘ts R
a.asinglefirm b. two firms’ PGR

c. few firms : d. many firms

vi. Paul Sweezy's model hasa - . | demand curve.

-a.vertical N b. horizontal
c.diagonal .~ . .~ d. kinked = -

vii. Mark-»up,bricing is___ for a firmtrying to enter a market.
a. not suitable b. suitable

L 56 appropriate ; d. ellglble

k ~viii, Under margmai cost pncmg
a.pP=MC. . : b_P MR
c. P=AC . T - d. all of the above

ix.- Price discrimination is used in the case of

a. bus tickets - . b. electricity charges
c. sports events d. all of the above
1 TURN OVER
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i,

Xi.
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Q.P. Code:04843

Investment to replace obsolete equipment is generally done for
a. expansion of production capacity

b. expansion into new markets

c. diversification into new production lines

d. none of the above

Payback period method is more suitable to
a. the short run b. the long run =
c.bothaandb d. neithera nor b

A project is profitable if the IRR is &
a. greater than the market rate of interest - -~ -
b. less than the market rate of interest

c. equal to the market rate of mterest

d. all of the above

State whether the following statement are True or False (Any Ten). -

The necessary condition for profit; maxrmlzation isthat MC is equal to- MR
. The equilibrium price of the monopohst is aiways higher than that of the Frm in perfect

competition. 2

i. The monopoly firm is a price maker > : -
iv. The demand curve for.a firm in rnonopollstlc competltion is vertlcal

An oligopoly market has only one seller. -

i. Cartels control price and supply-of products
vii.
viii.

Companies use transfer pncmg to: avmd taxes.

Full cost pricing prov:des aguaranteed prof t.

Multiple product pricing is based on preduct relat:onshrps
When NPV is positive the preject is re}eded :
Payback period; method favours projects w;th Qurck recovery.

The IRR method rejects a pro;ect if the market: rate of interest is greater than the IRR.

_AttemptAand BQrCandD Y A :
Describe the charactenstlc features of. perfect competltlon
: '-Explam qqualtbr:um of a monopoly flrm ‘earning supernormal profit in the short run.

XL OR

' Explam“the equ:llbrlum of the ﬁrm and mdustry in the long run under perfect competition.
. Read the paragraph below and answer the following questions.

- More than-90% of personai computer users in the world use the Windows Operating System. This

“isensured. bybarners toentry such as heavy advertising and frequent introduction of new variants

> of the software There are no other close substitutes of the Windows Operating System.

“i). Name the market structure being described in the paragraph above.

‘ f_u)_ Descnbe the characteristic features of the market identified by you in question(i)

: Attempt A an‘d BorC ahd D

Distuss selling costs-as a feature of monopolistic competition.

’Usmg a duagram expla:n why prices are rigid in oligopoly.

A831D34B711A8411AFCT2EDOBAC669EF
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OR . ) -
Analyze equilibrium of a firm in monopolistic competition in the sh‘_orf run. . ' N 08-
Read the paragraph below and answer the following questions.- - : : > " PL:

In Mumberg there are few sellers who are dominant firms in the eIectronlcs market The -
remaining sellers make their decisions on the basis of decisions taken by the dominant sellers in
the market. This results in rivalry and the firm which is successful is the one"th'at can predict the
rival’s reaction to its own action. For analysis of the market satuatlon the flrm may use game
theory. - '

i)  Name the market structure being describaél _ihathe paragraph above. -

ii)  Describe the characteristic features of the market identified by you in question {i).

Attempt AandBorCand D

Describe the conditions under which prlce dlscrlmmatlon is poss:ble R : 08

Write a note on marginal cost pricing. S g o3 . 07
SRS & :

Explain the multiple product pricingmethod. - -~ .~ _ WS 08

i) Examine the merits and demerits of the full-cost pricing method. ) 07

ii) Assuming a desired mark-up of 14%, if average-'va'riable cost is Rs. 65 and average fixed cost is
Rs.25, calculate the full cost price of product Z of firm Zip Zap Zoom.

Attempt Aand BorCand D : 7 :
What is capital budgeting? Explain its lfnportance L : 08

Write a note on the Net Present Value method e e 07
“OR 5
Explain the IRR method. e 08
In the following table are four projects with their initial-investments and their annual cash 07
inflows. Calculate the payback period for each 1 project and rank the projects.
Project : = Imtlal Investment S Annual Cash Flow

A- 2k 30,000 .0 . 7,500

I AETS 20000 4,000

R 3 ' 15,000 7,500

D i 10,000 10,000

Attempt A and B OR Write short notes on any: four.

Explain the equilibrium of firms in the short run in perfect competition under conditions of 10
differential cost. ’ P
. Debate the-role of advertising. = - 10
* N \ . - OR
Write short-notes. (Any Four). 20

i) Sources of monopoly power
i)  Excesscapacity
iii) -~ Distinction between monopolistic competition and perfect competition
iv)] -~ Degrees of price discrimination
v) Transfer pricing
Vi) Steps in capital budgeting

3 TURN OVER
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Please check whether You have got the right quesﬁ'o_n A;'J,-'a_pe'"r
NB: 1. Al questions are compulsory, e
2. Figures to the right indicate ful Mmarks, |

Q1 a) Explain the following terms i 2-3 sentences (any5) . St P S e 19
1. Online interview ST e
2. Closed questions in an interview ST gt gl S
3. Quorum CT e SR TR
Fliers - e TR S Rl
Group dynamics
Standing CoOmmittee
House journal

b) Match the following - S e 6T B R SRR ey

A~ 1. Group discussion - ‘a.,Opeh_Hqu;'e? i R &5
2. Resolutions b. !n‘.:era.r:tiph-.a'tfshe time of leaving an-organization

3. Internal pyplic Relations = . 'g:«:"T‘ec;hni\qﬁeffoﬁséféét{ori-c':f.'a'candidé'te“,:'{“

4. Skype PP d.'Qetisibns-tqkenjété'_m'ee‘t]_i'n"g;j wle A

3. Exitinterview e ) Videgiefiap ™z < 2 Lk

®No ;s

05

Q.2 Write short notes On:f{anyfoyr) AR Pl T2y =
1. Preparation to be made by a’"c_andi’d_ate:h,‘eforéﬁ selection interview
2. Appraisalinten?iew,‘.' A Rt L S
3. Role of the gh"a\irpersonfn-a._'maeting.- g
4, Advantages gnd'é?i.sadVantagés of meetings- e
5. Grievanc@_.@ngewiéw' o Y
6. WASE,ffg,e!lniqueofcoﬁduc’:t_ihg.‘anfi'ntigrvie_w L

Q3 Answerthe*fo""‘?@iﬁaﬁl{?stfbns,!_a_n‘_x_\nv..o.l:;~ R 20

20

1 Dgﬁhé;’;P‘g;;bf‘icgé'ﬁ,_el_é‘tions’.~-DiS"qﬁ'ss"tﬁe\'mé‘ashrés:-fakén by Public Relations Department to influence

- eXternal publics of an. Organization, Sl
2 'fWhaf._a‘re;:éghfe;gn(:es_?j‘Dichss. the advantages.and disadvantages of conferences,

. S IO Défine;'fqg,mmi-;tges_fé Discuss the"i_mpo_rtance.énd the types of Committees in an Organizatijon,
Q4 Att'em’p";-thg following Iét_t'ers:f'!gr}'z.fgu‘rl Iy

(P.1.0)

7 1
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Q.7

Q.P. Code 03755

4. Dr. M.Tharu of Mumbai ordered a mobile phone from ‘Trade line’-an onlme shoppmg portaiand
made the payment by credit card. The product never got delivered to h;m and thé onlme shoppmg -
site has not respanded to his complaints. , N ~: N e v “
Write a letter to Consumer Grievance Redressal Cell making a: compiamt abdutthe |ssue & seekmg
adequate compensation. :

5. You had applied for a passport two months back and have not received any updates gbqutjf Write an
RTI query asking about the status of your apphcatron the process of |ssulng a paSSport and the tlme

taken for the same.

Draft a Business proposal to be sent to Prim and Proper‘thshmg School for startmg a Basw tomputer 10
certificate course in their campus on a revenue sharing basis. '

OR

After receiving many complaints from students and teachers about the college canteen food of Exceilent
College, a committee of students and teachers was set up by the Principal to study .thehygrene of the coll—<
canteen. : el o
Draft the covering letter and committee report makmg suitable’ recommendations
Draft the Notice and Agenda of the 5™ Annual General Meetmg of Deepak Fertilizers Ltd: Also draft the 10
following resolutions :

1. Declaration of dividend

2. Appointment of Auditors

Summarize the following passage" D a3 _-,?," A_‘\ - POl s 05
Australian scientists warned dnvers and passengers of new cars that danger lurks within their brand new
vehicles. It is not the, soft fabric or the leather-that encases comfortable bucket seats, or the shining new
dashboard, or the designs of the sporty steering whee! that harbor ‘the danger. It is the reassuring smell of the
new car that spells danger. The odour actuallv contams h:gh ievels«of toxic air emissions that can make the
driver and the passengers jll.- 3

A research orgamzatton in:Australia condUCted a comprehenswe research on three cars. Drivers were asked to
keep logs on. how they felt and reacted to*theplush interlors‘of their cars. The researchers also carried out
observatlons on the: reactions of the drivers and at the same time interviewed them. The results revealed that
the very smell of a new. car that enthralls tﬁe new owner, contains high levels of toxic emissions. What is eve™
more alarmmg is the fe::t that these toxic emrsslons*are present in cars even after 6 months or longer of
leaving the- showroom. Anecdotal evidence during thestudy revealed that drivers were becoming ill when
they drove thew new cars. A lawyer repon:ed being ilF with headaches, lung irritation, and swellings for several
days after collecting a new car and' drivmg it only, for 30 minutes. The Commonwealth Scientific & Industrial

‘Research Orgamzatlon (CSIRO} is Austi‘alra s main scientific body. They conducted a research on the toxicity of
‘the interiar of new:cars over.a perlodof two year. Steve Brown, the head of the CSIRO's air quality control
reséarch unit draws pa?aﬂe] ‘between. the hame and the car. He says, “Just as air inside our homes and work

place is Aeft\en\mqre\ poliutec!,than the air outside, so sitting in your new car can expose you to levels of toxic
emissions that are many times beyond health guideline goals.”

BBAFF6D7105AA0440A55AF17635F 14BF
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Please check whether you have got the right quest:on paper.
N.B: 1. All questions are compulsory. A
2. Draw diagrams / maps wherever necessary. %
3. Figures to the right indicate marks allotted to the question.
4. Attach the map to your answer paper. '

Q1.A. On the outline map of Mumbai supplied to you, mark and name the following:
a) An area affected by land slides
b) An air-port
c) An area of mangrove vegetation
d) The head-quarters of Western Railway
e) Essel world -
f) Sealink
g) A pilgrimage centre
h) A parkin South Mumbai
i) Abeach
j)  Tulsilake

B) On the outline map of Konkan supplled to you mark and name the followmg
a) Palghar district :
b) A bird sanctuary
c) Barvidam
d) Thane creek
e) Amboli ghat
f) Sindhudurg fort
g) Jawhar hill station
h) ‘Shrivardhan beach
. i) A site of deforestation in the Ratnagln district
i) A pilgrimage centre in the Raigad district

Q.2 A) Write a detail note on effective solid waste management.
B) Discuss various effects of hazardous waste on environment and health.
: A .OR _
A) Bring out the various steps taken by Municipal Cégporation of Greater Mumbai (MCGM) in solid
‘waste management. !
B) Give a detail classification of solid waste with sufgable examples.

8913A891ES164ESF24 §3972FFDDZ 1883
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Q.P. Code 05535:

Q.3A) Elaborate various environmental problems associated with modern agr:culture : ?'_ R '10“.:;-?1" bk,
B) Write the.causes and effects of malnutrition? ISl e T

OR
A) Bring out various causes and effects of ozone depletion.
B) Write a detail note on the following: '
1) Corporate Social Responsibility (CSR)
2) Green consumerism.

Q.4A) Discuss new types of tourism with suitable examples. = -
B) What are the positive and negative impacts of touﬂsm on culture?
OR Pt L
A) Describe the challenges faced by the tourlsm sectbr of Indla
B) Write a note on eco-tourism. ~

o

Q.5A) Briefly explain the need and relevance of ehwr‘onmental management - 10
B) Write a note on the following: LS X DA S 10

1)} Environmental protectlonacts_ 3 e 5

2) ISO 14000 o o

OR s =Ny ,_V" -
A) Describe ‘Chipko Movement ‘in detaﬂ iy, b 10
B) Discuss the application: of ‘GeodSpatlaL tggﬁnology in env:ronmental mariagement. 10
l L8 Al
v \\f :
2
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N.B. (1) Allquestions are compulsory.
(2) Figures to the right indicate full marks.

(3) Use of simple calculator is allowed.
(4) Graph papers will be provided on request.

Section |

1. Attempt any four from the following :—
(a) Find derivative of y with respect to x. 5

(i) y=4x"-logx + x
(i) y=(x+¢€% (logx —10) ‘
(b) The total cost function is given by C = x? + x + 10. 5
Find the average cost and marginal cost when x is 20.
(c) Examine the points of maxima and minima for the function f(x) = xX3~6x2+9x. 5

(d) If the demand function is given by D = 15 — 4p + p2 5
Find the price elasticity of demand when price is 5.
(e) The demand function of a commodity is given by p = 18 + D - D2 5

Find the total revenue and marginal revenue function.

2. Attempt any four from the following :—

(a) A principal amounts to ¥ 11,880/- after 4 years and to ¥ 14,040/- after 7 years.
Find the principal and the rate of simple interest.

(b) Amitkeeps a fixed deposit of T 25,000/- in a bank for 3 years. If the rate of interest 5
is 10% per annum compounded annually, find the total amount he will receive at
the time of maturity after 3 years.

(c) Bhavin promised to pay Ketan ¥ 3,66,025/- after 4 years. If the rate of interestis 5
12% per annum, find its present worth.

(d) Find the amount at the end of 1 year of an annuity of ¥ 5,000/- payable ateach 5
quarter with rate of interest 12% per annum.

(e) Rehan takes a loan of ¥ 30,000/ to be repaid in one year at 9% perannumby 5
reducing balance interest rate . Find the Equated Monthly Instalments (EMI).

144

[ TURN OVER
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Section i

3. Attempt any four from the following :—

QP Code : 04818

(a) Regressionlineofyonxis3x-2y—-6=0andthatofxonyis8x-3y—-44=0 §
Find (i) Coefficient of Correlation between x and y (ii) Mean values of x and y.

(b) Calculate Spearman’s Rank Correlation coefficient for following data. 5
X 42 | 40 | 52 57 | 36 | 42
y | 102 | 100 | 105 103 | 110 | 105
(c) Define Correlation and explain the method of Scatter Diagram for decidingthe §
type of correlation.
(d) Calculate Product Moment Correlation from the following data : 5

2x-X)y -¥) =29 3o (x-X) =28; 3 (v -y =42

(e) The following data relates the Age of husband and wife. Estimate the ageof 5

wife when husband is aged 23.

Husband Wife
Mean Age 27 years 23 years
Std.Dev. of age 3 years 2 years

The Coefficient of Correlation r = 0.93

4, Attempt any four from the following :—

(a) What is Time Series ? Describe the components of a time series with suitable 5

examples.

(b) Calculate the Cost of Living Index for the year 2004 by family budget method 5

from the following data :

21B78D2F7E4B051D23199DFD41F1BF47

Group Price in 2000 Price in 2004 | Expenses on
Food 100 110 40%
House- rent 85 25 15%
Clothing 80 100 20%
Fuel 40 60 10%
Miscellaneous 50 55 15%
[ TURN OVER
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(c) Fita straight line trend by the method of least squares and hence estimate the
sales for 2010 from the following data :

* Year 2005 | 2006 | 2007 | 2008 | 2009
Sales 1 15 12 13 19

(d) For the following data construct the Fisher’s Price Index Number :

2014 2016
Commodity | PriceinT | Quantity Pricein¥ | Quantity
A 4 10 5 12
. B 3 8 6 10
¢ 2 8 3 9
D 5 4 8 5

(e) Find trend values by 4 yearly centered Moving averages method :

Year 2006 | 2007 | 2008| 2009 | 2010| 2011 {2012 | 2013| 2014 | 2015
Export 15 | 20 | 256 | 32 | 40 | 48 | 56 | 64 | 70 | 75

5. Attempt any four from the following :~—

(a) Anunbiased coin is tossed 4 times. What is the probability of getting i) 3 heads,
(Il) at least one head.

: (b) If X is a random variable following Poisson distribution with relation
b 4P(X = 0) = P(X = 1) Obtain P(X = 3).
(Given e™*=0.0183)
(c) Enumerate the important properties of Normal Distribution.
(d) If the weight of 10000 soldiers in a regiment is normally distribution with mean
72 kgs and standard deviation of 5 kgs. Find the percentage of soldiers with
weights between 70 and 77 kgs.
(Given area under the standard normal curve betweenZ=0and Z =+1is
0.3413 and between Z=0and Z =0.4 is 0.1554).
(e) The average number of phone calls per minute in a call center is 4. Find the
probability that during a specific minute, the number of calls is (i) only 2
(ii) less than 2.
(Given e =0.0183)

21B78D2F7E4B051D23199DFD41F1BF47
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